
9032 - STRIPSCHUURMACHINE 6/9/13MM

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22

23A
23B
23C
24A
24B
24C

25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42

317523-4
266119-7
153308-2
257249-5
253807-5
265494-8
272229-0
961014-3
265090-2
941052-1
265751-4
253807-5
421198-4
317522-6
265092-8
345196-3
266026-4
345197-1
265028-7
233333-0
317525-0
265040-7
153313-9
153314-7
153315-5
125157-7
125158-5
125159-3
233332-2
153312-1
232185-6
922111-0
911138-5
345195-5
265040-7

P-12924
682502-4
687063-9
265995-6
631185-7
645209-3
651263-7
415635-8
265995-6
853483-1

27
1

30
7
1

10
10

1
6
1
6
1
8

20
3
6
1

13
5
4

30
1

19
12
12

3
14

6
1
1
7
1

21
7
3
1

32
17
17
18

1
3

NR PRIJS-
GROEP

ART. NR OMSCHRIJVING

Nr. 24 bestaat uit nr. 22, 23, 24, 41, 32
Nr. 24, 24B en 24 C zijn accessoires.

Lagerschild 9032
Tapschroef Pf 4X25
Schuurhuis 9032
Afstandbus 9Mm 9032
Sluitring 5
Zeskantbout M5X13 9032
Blokkeerhandel
Stopring E-8
Schroef M4X20 9032
Sluitring M4
Knopschroef M5X1O 9032
Sluitring
Dop
Aandrijfrol 9032
Kruiskop Schroef M5X12 9032
Beschermplaat 9032
Tapschroef 4X12
Blokkeerhandel 9032
Kruiskop Schroef M4X11
Drukveer 10Mm 9032
Arm Houder 9032
Kruiskop Schroef M3X4 9032
Glijplaat 6Mm 9032
Glijplaat 9Mm 9032
Glijplaat 13Mm 9032
Arm Compl. 6Mm 9032
Arm Compl. 9Mm 9032
Arm Compl. 13Mm 9032
Drukveer 6Mm 9032
Arm Spanner Compl 9032
Bladveer
Imbusbout M4X1O
Schroef 4X20
Arm Afdekplaat 9032
Kruiskop Schroef M3X4 9032
Zie Nr. 23A,B Of C
Kabel 3 Meter 2X1
Kabeltule 8-85
Trekontlaster
Tapschroef 4X18
Toerenregeling 200-240V
Ontstoringscondensator
Schakelaar Sw134
Handgreepdeksel
Tapschroef 4X18
Naamplaat 9032

43
44
45
46

46A
47

47A
47B

48
49
50
51
52
53
54

191940-4
643550-8
819063-3
159747-4
643932-4
599347-2
654100-4
654501-6
266052-3
415634-0
210023-2
681614-0
517389-4
241884-9
210005-4

14
3
2

30
11
28
1
1
1
6

10
1

37
13
13

NR PRIJS-
GROEP

ART. NR OMSCHRIJVING

Koolborstel Set Cb-411
Koolborstelhouderdop
"Label ""Makita"""
Motorhuis Compl.
Koolborstelhouder 6X9Mm
Veld Compl. 230-240V 9032
Statorveer
Klembus Voor Statorveer Cb-5+7
Tapschroef Pt4X6O
Tussenplaat
Kogellager 627Ddw
Isolatiering
Anker Compl 230-240V 9032
Waaier 60
Kogellager 6O8Ddw

02-2002


